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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 11,680 5,000 6,680
01 AP 22| H| 11,680 5,000 6,680

OXE s =5 M2 4,000
Ous I HZ 1,000
OXNsSe8 MY U3 4,700
Osgis 3= (d2) 22 1,980
301 et A= 3,670 8,350 A4 680
09 HAIAHI B A2 3,670 8,350 N4 ,680
OBESE NBLNS DS - 5o BHX 24
Hl 770
O=HEET USYHME e -39 &EAAX WE
Hl 2,200
O=EE=T s M A UE &AL 24| 700

ZEL01EE 140,000 140,000 0
201 gEt24y| 13,000 13,000 0
01 AP 22| H| 13,000 13,000 0

OSsxl2Ely E22 M& 3,000
OZExdl2EIIYEE HAZD 10,000
308 XX SHHSOIH 127,000 127,000 0
01 AIXSHMEMNEXZ 127,000 127,000 0
OExdl2EE MY 127,000
Mo & X2 A | 23,606,400 32,496,200 A 8,889,800
2 18,156,000
& 5,450,400
Mol I& X7 HHIAY 22,133,200 25,363,600 N 3,230,400
= 17,024,000
& 5,109,200
202 o4l 2,000 1,600 400
01 2L HI 2,000 1,600 400
OMAKAE X HHAIY =& 0| 2,000
403 XX SHHS K2 0| & 22,131,200 25,362,000 A 3,230,800
= 17,024,000
& 5,107,200
01 XIS A2 X 22,131,200 25,362,000 A 3,230,800
OMNKAE X7 HHIAIL 22,131,200
= 17,024,000
& 5,107,200
S3AK SURE XS HUIAS 1,473,200 1,021,600 451,600
= 1,132,000
o= 341,200
202 044l 1,600 1,600 0
01 2L HI 1,600 1,600 0
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OSZ ALK SUAEXNS FHIAMY =& 0l 1,600

403 MHXISHHE X201 E 1,471,600 1,020,000 451,600
= 1,132,000
< 339,600

01 XM A=2EE 1,471,600 1,020,000 451,600
O=Z AKX SUASEXNS A 1,471,600
= 1,132,000
< 339,600

NARSIEGHESE TS 94,521,100 104,272,000 29,750,900
= 48,800,000
Xl 20,237,000
A 1,525,000
< 23,959,100

of & XH ol Ofl & At 64,733,100 73,798,000 A 9,064,900
= 44,000,000
< 20,733,100

StE GA2H o &SXINAALS 1,770,000 7,050,000 25,280,000
= 1,062,000
< 708,000

401 AIEHI L 2] 1,770,000 7,050,000 25,280,000
=2 1,062,000
< 708,000

01 A& Bl 1,763,700 7,038,000 A5,274,300
OstdE G L2/ =0l & & XIH & ALY 1,763,700
= 1,058,220
< 705,480

03 Al S THHI 6,300 12,000 A5,700
OetE G 20 =0l &&= X & AL 6,300
= 3,780
< 2,520

S W FoHASRIHLALY 5,000,000 3,500,000 1,500,000
= 3,000,000
= 2,000,000

401 AIEHI L 2 CHYI 5,000,000 3,500,000 1,500,000
= 3,000,000
< 2,000,000

01 Al&H] 4,995,000 3,490,600 1,504,400
SCHIDMAHLSK NS ALY 4,995,000
2 2,997,000
< 1,998,000

03 Al SR THHI 5,000 9,400 A 4,400
HHEIM oA SXIHLEAS 5,000
= 3,000
< 2,000

PEH ASH oA SXHESAS 5,000,000 4,000,000 1,000,000
= 3,000,000
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= 2,000,000
401 AlEHIZL £ 0HY| 5,000,000 4,000,000 1,000,000
= 3,000,000
= 2,000,000
01 Al&EH| 4,995,000 3,989, 200 1,005,800
ORCHAZHEHASKHNL AL 4,995,000
= 2,997,000
& 1,998,000
03 Al& 20| 5,000 10,800 A5,800
ORZHAZ2HE=HASKIHLAIS 5,000
2 3,000
= 2,000
Zcld 02 M =olASAMEAIS 5,000,000 3,500,000 1,500,000
= 3,000,000
= 2,000,000
1T AIEHIZL 20| 5,000,000 3,500,000 1,500,000
= 3,000,000
& 2,000,000
01 Al&H| 4,990,000 3,496,000 1,494,000
OO HMEHASKIHNLAS 4,990,000
= 2,994,000
o= 1,996,000
03 Al 24| 10,000 4,000 6,000
OZcId0IFHE=oHASKIHLALS 10,000
= 6,000
& 4,000
258 QEH =HASXIHL AL 3,043,300 3,000,000 43,300
= 1,826,000
== 1,217,300
1T AIEHZ 2L 3,043,300 3,000,000 43,300
=2 1,826,000
= 1,217,300
01 A& H| 3,035,100 2,994,000 41,100
OSFHLENSTHASKIHLAIY 3,035,100
= 1,821,080
= 1,214,020
03 Al 20| 8,200 6,000 2,200
OSBFIHLHMTHASXNINL AL 8,200
= 4,920
&< 3,280
SHALE RTH o AS XA A 2,466,700 3,500,000 ~1,033,300
= 1,480,000
= 986,700
401 A2 HIL 2T Y] 2,466,700 3,500,000 ~1,083,300
= 1,480,000
o 986,700
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01 A& HI 2,457,820 3,491,000 A 1,033,180
OstitHM A H =0 &S KIH& ALY 2,457,820
=2 1,474,672
< 983,148
03 Al S THHI 8,880 9,000 A 120
Ot A S M=ol & & XIH & ALY 8,880
= 5,328
< 3,552
2sd ZSH oS XHEAS 3,085,000 3,000,000 85,000
=2 1,851,000
< 1,234,000
TAIEHI &2 3,085,000 3,000,000 85,000
= 1,851,000
< 1,234,000
01 A& HI 3,076,680 2,989,200 87,480
OXsHEISH=HASR NS AL 3,076,680
= 1,846,008
< 1,230,672
03 Al S CHHI 8,320 10,800 22,480
OXsdEEXSH=HASXMHL ALY 8,320
= 4,992
< 3,328
SHHE STH =HASK N AL 1,721,700 2,689,000 967,300
= 1,033,000
< 688,700
1 A& HI Y2 O bl 1,721,700 2,689,000 967,300
2 1,033,000
< 688,700
01 A& HI 1,715,510 2,679,400 A 963,890
OsdHESEHM =& SRIHL A 1,715,510
= 1,029,286
< 686,224
03 Al =TI 6,190 9,600 A 3,410
OsdESEHM =oH&SKIIHL A 6,190
= 3,714
< 2,476
OlEA DIEM =oladsXNEAS 2,936,000 400,000 2,536,000
= 1,468,000
< 1,468,000
401 AIEHI L 20HEI 2,936,000 400,000 2,536,000
= 1,468,000
< 1,468,000
01 A& HI 2,926,000 397,200 2,528,800
O0IZEXEDI R =cHASX NS ALS 2,926,000
= 1,463,000
< 1,463,000
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03 AlE 2 THHI 10,000 2,800 7,200
O0EHOIEH=cH&ASXMNL A 10,000
= 5,000
< 5,000
Hdgd U SoHASKHSAS 1,944,000 400,000 1,544,000
= 972,000
< 972,000
401 AIEHI L 2 CHYI 1,944,000 400,000 1,544,000
= 972,000
< 972,000
01 A& HI 1,937,100 397,200 1,539,900
O Z WM =& SXIHL ALY 1,937,100
2 968,550
S 968,550
03 AlE 2 THHI 6,900 2,800 4,100
OHLHZ UM =HASKINL ALY 6,900
= 3,450
< 3,450
ZEA SLH &S MAAS 1,192,000 400,000 792,000
2 596,000
< 596,000
401 Al HIZ 201 8] 1,192,000 400,000 792,000
= 596,000
< 596,000
01 A& HI 1,187,710 397,200 790,510
OFEHMSLH=HASXIMNL AL 1,187,710
= 593,855
< 593,855
03 Al 2 THHI 4,290 2,800 1,490
OXBISLH=HASMNL AL 4,290
= 2,145
< 2,145
st EM2X 7 ol 4SS KNS ALY 800,000 0 800,000
= 400,000
< 400,000
401 Al HI L 2 THHI 800,000 0 800, 000
= 400,000
< 400,000
01 A& HI 795,000 0 795,000
Ogtd Ga2X 7 ol &t s XIHE AL 795,000
= 397,500
< 397,500
03 A& 2 THHI 5,000 0 5,000
Ostd Ha2X 7 ol &S XN ALY 5,000
= 2,500
< 2,500
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CHRl: oL & THOH Ol & AL S (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
FEZEYHE HEXNT =olaASXHEAS 800,000 0 800,000
2 400,000
& 400,000
401 AIEHIZL 201 Y| 800,000 0 800,000
= 400,000
= 400,000
01 Al&H| 795,000 0 795,000
OFZE2EA HEXNT =l SKIHEAS 795,000
= 397,500
=} 397,500
03 A& E20HH] 5,000 0 5,000
OFZEE HEXNT =HASKIHLEAS 5,000
= 2,500
= 2,500
AR =olaASKMAAS 800,000 0 800,000
= 400,000
o= 400,000
401 Al HI L 204 HI 800,000 0 800,000
= 400,000
o= 400,000
01 Al&H| 795,000 0 795,000
ORAA oA SX NS ALY 795,000
= 397,500
= 397,500
03 AlE 20| 5,000 0 5,000
ORMA =olaSXMEAS 5,000
= 2,500
& 2,500
BHA Lol ASKIINA A 800,000 0 800,000
= 400,000
o 400,000
401 Al HI L 204 HI 800,000 0 800,000
= 400,000
= 400,000
1 Al&H| 795,000 0 795,000
OA ol &S KM AIS 795,000
= 397,500
& 397,500
03 AlE 21| 5,000 0 5,000
O8MAE ol &S KA 5,000
= 2,500
= 2,500
DYH DYXNP +HASK ML AL 800,000 0 800,000
= 400,000
o= 400,000
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401 Al HIZ 201 Y| 800,000 0 800,000
= 400,000
< 400,000
01 A& HI 795,000 0 795,000
ODnYdE NLXNF ol SXHL A 795,000
= 397,500
< 397,500
03 Al S THHI 5,000 0 5,000
Ongd DX F ot SAMNE A 5,000
= 2,500
< 2,500
QI o &S KIIHE AL 800,000 0 800,000
= 400,000
< 400,000
401 Al HI L =2 Tl 800,000 0 800, 000
= 400,000
< 400,000
01 A& HI 795,000 0 795,000
O2td ol &S KNS ALY 795,000
= 397,500
< 397,500
O2Itd ol &S XIIHL A 0
03 Al 2 0HHI 5,000 0 5,000
O2td ol &S RN ALY 5,000
= 2,500
< 2,500
nge &2 FdlAY 21,873,600 7,560,000 14,313,600
= 18,228,000
< 3,645,600
403 RXI S A S X =0l & 21,873,600 7,560,000 14,313,600
= 18,228,000
< 3,645,600
01 HAXSHMA=2EE 21,873,600 7,560,000 14,313,600
Oxnseo & HdlAY 21,873,600
= 18,228,000
< 3,645,600
MEHGHE X & A 4,900,800 6,336,000 A1,435,200
= 4,084,000
< 816,800
403 A X EHHS =0l A 4,900,800 6,336,000 A 1,435,200
= 4,084,000
< 816,800
01 X HHX2E = 4,900,800 6,336,000 A 1,435,200
OMEHCHE =& ALY 4,900,800
= 4,084,000
< 816,800
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StEEHIIIB RS 1,200,000 1,200,000 0

ot&JIEHE g 1,200,000 1,200,000 0

401 Al HIL 201 1,200,000 1,200,000 0

Al & H| 1,195,680 1,195,680 0
Oot&II2AHE =8 1,195,680

03 A& 2 0HH| 4,320 4,320 0
Odt&II2AHE 8 4,320

ot & = Xl 22l Ak 28,588,000 29,274,000 A 686,000
= 4,800,000
Xl 20,237,000
A 1,525,000
= 2,026,000

Aot EBIAY 20,237,000 22,148,000 A 1,911,000
Xl 20,237,000

403 ItXISHHMS K201 20,237,000 22,148,000 A 1,911,000
Xl 20,237,000

01 AIXISHM A 22X 20,237,000 22,148,000 A 1,911,000
OAotdEHIAS 20,237,000
Xl 20,237,000

NEotE R A 22 AF 1,000,000 1,000,000 0

403 X SHMS K201 A 1,000,000 1,000,000 0

1 XS A2E X 1,000,000 1,000,000 0
OXNgotd X 22l A 1,000,000

St RA &2 FE Fa S| 26,000 26,000 0

201 Bt A H| 26,000 26,000 0

01 AFR2 2t 2l Yl 26,000 26,000 0
(@F=1] 1< PN Er=u] 26,000

=I5t R X 22l A Y 4,800,000 5,100,000 A 300,000
= 4,800,000

403 ItXISHXM S K201 & 4,800,000 5,088,000 A 288,000
= 4,800,000

01 AIXISHMA2E X 4,800,000 5,088,000 A 288,000
O3t 7 A &2 AL 4,800,000
= 4,800,000

Ngsts 028K 24 1,000,000 1,000,000 0

401 AIEHIL 20| 1,000,000 1,000,000 0

01 Al &bl 994,000 994,000 0
OXsotE 0I=2A 24 994,000

03 Al 201 YI 6,000 6,000 0
OXestd Ol B4 6,000
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Hu: NORS NG HSA LA
& StE KX 22l ALY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
StHEE BHE X2 THoH Ol 2 AL 1,525,000 0 1,525,000
N 1,525,000
401 Al HI R 201 I 1,525,000 0 1,525,000
N 1,525,000
01 A& Bl 1,518,000 0 1,518,000
Osted S X THoH Ml 2 AL 1,518,000
EN 1,518,000
03 Al =2 THHI 7,000 0 7,000
Oste & S X2 THoH Ol 2 AL 7,000
N 7,000
StEAISZ 2 600,000 600,000 0
StEAIEESE 02 600,000 600,000 0
SHEAMEZESNES 600,000 600,000 0
308 XXIEHH SOl A 600,000 600,000 0
02 2+NLF= 600,000 600,000 0
OotdANEZHTNEZ 600,000
A2 (XL TH) 59,088 59,088 0
Jl23&dl 59,088 59,088 0
JlE2zl 59,088 59,088 0
201 Let24d] 21,288 21,288 0
01 At 22l 21,288 21,288 0
OJle=+=EHl 8,688
OJlEs gl 12,600
202 o4l 37,800 37,800 0
01 = LH o4 1l 37,800 37,800 0
OJl=0tl 37,800
HWeEs 14,831,150 15,913,300 A 1,082,150
HEAHHK = 5,941,000 4,500,000 1,441,000
LHEHeH X = 5,941,000 4,500,000 1,441,000
702 JIS28ES 5,941,000 4,500,000 1,441,000
(RPIE=RSE—t= 5,941,000 4,500,000 1,441,000
Ol lI=dE=s 5,941,000
SHXNE 8,890, 150 11,413,300 A 2,523,150
EXdRE 8,890, 150 11,413,300 A 2,523,150
705 G~ AclS4E 8,890, 150 7,544,000 1,346, 150
03 Al - SXYHLI S-S 4E 5,810,000 4,710,000 1,100,000
OS2Il = 7 A HI(2004) 3,500,000
O=dll & & XM & AFE (2009) 560,000
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OZol A& XN AFS (2010 1XF) 300,000
OZxola & XIIHAAFE (2010 2XF) 430,000
O%dl=2 R AFE I (2009) 650,000
OZoll & XA AFD (2010) 370,000

04 Al - SXEIHLI 20 =20 XtAHE 3,080,150 2,834,000 246,150
LIl ol = 2 AF Bl (2004) 612,500
ol KW & AF (2009) 176,400
ol KW & AH (2010 1XH) 105,000
ol [J0 & AFRE (2010 2XF) 150,500
ol [J0 & AR (2011) 420,000
S Hl(2009) 204,750

N
N
A
XIOH & AF (2012 350,000
KIOH & A 350,000
X
N
X

)
)
2014) 300,000
)
)

ol

ol

| OH & At
| OH & A
| OH & At

ol

111,000
300,000

ol

OO00000O00O0O0O0
S R SR S e SR SR
on
0z 0z 0x o0x 0z J 0x 0x 0x 0%
S S S S U S S

R 2 R @

ol




